SPAN 4’ (all measurements in

feet and/or inches unless otherwise noted)

SPAN §
HEIGHT 2 3 'y

STRENGTH _CLASSIFICATION A B c A B c D A B C D
MAX_FILL OVER TOP 11 21 [ 32 | 11 [ 23 | 34 [ 46 | 11 [ 23 | 34 [ 46
s [Top_Slab T1|6 1/2[6 1/2]7 1/4|6 1/2]6 1/2[7 1/2]8 1/2|6 1/2]6 1/2]7 1/2]8 1/2
& | Bottom Slab T 6 |7 1/4[81/2] 6 [71/2[81/2]91/2 6 |7 1/2]81/2]91/2

| Sidewalls 3] 6 6 B B B B B 6 6 6 6
.. |Size Bar# 5 4 4 5 4 4 4 5 4 4 4
. . [Spacing 1 11 9 11 Jo1/2[81/2[71/2] 11 o 1/2[8 1/2]71)2
Length 10-3 [ 10-2 [ 10-2 [10-3 [10-2 [10-2 [ 10-2 [10-3 [10-2 [10-2 [10-2

" | Size Bar # 5 5 5 5 5 5 5 5 5 5 5
< [Spacing 11 11 9 11 [lo1/2ls 120712 11 lo1/2]81/2]71/2

Z| by [Length b’ 94 | 9-4 [ 9-6 | 9-4 [ 9-4 [9-6 [9-7 [ 9-4 [ 9-4 [ 9-6 |97
| ~— [Length "b1 9-4 | 9-5 [ 96 | 9-4 [9-4 |96 [9-7 [ 9-4 [9-4 [9-6 [9-7

gl o |Size Bar# 4 5 5 4 5 5 5 4 5 5 5
S| [Spacing 11 11 9 1 [lo1/2l8 1207121 11 Jlo1/2[81/2071/2
b Length 46 | 46 | 46 | 46 | 46 | 46 | 46 | 46 | 46 | 46 | 4-6

™ "4 Dist [ Top Slab—Tot. No. 10 6 6 10 6 6 6 10 6 6 6

Bars [Bottom Slab-Tot. No. | 6 6 6 6 6 6 6 6 6 6 6

"e” | Size Bar # 4 4 4 4 4 4 4 4 4 4 5

Bars | Spacing 18 | 18 [ 18 | 18 [ 18 [ 16 [ 12 | 18] 12 9 10

Spacers | Number 23 26 29

< Concrete: C.Y. per lin. ft. 047 ] 051 ] 057 | 053 ] 057 [ 0.63 ] 0.69 [ 059 [ 0.63 [ 0.69 [ 0.75
S| Reinf. Ibs per lin. ft. 81 [ 74 | 84 [ 8¢ | 79 [ 9t [ 1ot [ 8 | 8 [ 99 | 11
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NOTE

For boxes of height less than that shown in table, use next greater
table height slabs, wall dimensions and reinforcing steel, and make

necessary changes in bar lengths, number of spacers and quantities.

Number of "d” bars in table is slab total for both cells.




